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Find the missing coordinate using the given slope. -
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Slope = E U'b q Slope =8 -8 = %(5‘0'\
-N1= \3(0"2 - = 40- 34
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-2 -39 = |3y a=_Llp 8
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Slope=-2  o-2 Slope = -% e
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H=8-n -10 = Sc -8
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2 =c
5) (g, 6)and(-5,-9) —qf(p 2 6) (1,h)and (4,8) 3___ - |
Slope = % -s-q ~ & Slope = 1 “ -’ N
-30= 2(-5-9) 3;_8 n (
30 =-15 -3 =T
g= 5- 5 - _33 9 h= 5—
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7) (,-1)and(-5,2) 8 (s,-7)and (3,-10) -1o-{-7)= =}
Slope = —93- Z-(1) _ -4 Slope = -;— 3-S5 A
-y - - 3
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9 @.3and-7) AN=3g 100 (.-8)and (10,4) y-(-8) _ 3
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£-1 7
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t= -|o_-__§'('r:-ﬂ g = 1= 30-3y
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11) (-4,-10)and (-2, p) -15="5 12) (-5,v)and (-8,3) 3
Slope = % P - (-10) .5 Slope = - —..-3“/ = :‘-
—a-(4) " a -Q-(5) 1\
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' =1 Q= v Y,

U=
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